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(& I I BB 1 T0)
7% R (kg) Vg FARELS|
iEa Al BAAT
AH Y5 FHRF RS | PEH AfE(D) | P E) | ZfE(r) PEHY AME(T) | P ED) | ZfE()
RIART= W 84 42 42| Kg |EE 2,160 108| = 3,240 31
BB\ 1,346 1,346 Kg = - FiE 3,305 579
BEEIZED 626 626 Kg |& 405 K5 - @A 1,728 356
RAROL® 6 1 5| Kg [EE 918 FJE 5,940 2,160
BIEV¥H 173 173 Kg FEE 2,646 540
BTz 1 1 Kg |E&E 972
l3H 297 40 257 Kg |EE 1,944 432|&fE 3,780 864
PHIEE 73 49 24| Kg |EE 1,458 324| K& 1,512 1,404
7=Z 382 200 182 Kg [=# 3,300 1,600(& 5 3,888 432
BIESC 8 8 Kg |BE 756 432
gl 6 6| Kg JtimE 21,600 17,280
BRO 66 66| Kg |EE 10,800 2,157 |Rl& 9,000 3,240
BEDAED 355 45 310 Kg |EBRS 1,612 154|ER S 2,106 540
WhL 948 948 Kg RI& 459 300
W L 109 109] Kg =9E 378 278
Hd L 80 80 Kg Syl 702 594
=E 150 150] Kg FEE 1,296
SAFE 810 810 Kg Jtime 2,970 1,026
ANeP=) 477 477 Kg AR L 1,512 540
TAWLD 36 36 Kg |RIF 4,860
BB 215 215 Kg =l - EiE 2,160 1,300
{AHELCA 237 237 Kg |B#&H 3,359 2,279
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252|LWAEXECA 72 72 Kg |EA 2,322

254|EDT2ELCAH 492 492 Kg 2P 1,998 108
303[A 27z 918 299 619 Kg |EE 504 288|EfE - RIF 500 386
305|xAah>0b 11 111 Kg BJE 4,104 2,700
315|7: B9 6 12 12| Kg = 4,320 3,780
319[xHh v 118 4 114 Kg [&=E 2,700 RI& 2,160 386
332|113 WA =EF 194 194] Kg Bl = 2,592 1,728
351(4EH 10 10| Kg = 4,320
35411FxE<Y 12 12| Kg [ 1,404

355(mp Y 130 130 Kg A - BE 1,620 600
356(L L& 65 65 Kg SER 1,512 540
357|7RE 12 12| Kg = 1,944 1,836
358|KE 16 16| Kg FAN 2,916 1,728
401|H W 46 46 Kg A0 2,592 1,404
4025 E 20 20 Kg F A 5,778 4,536
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7R R (ke) w05z FHRIER
B il HLAVE
AH w05E | AR TE ity FET) | fE) | ZefEi) FE FHE(T) | PG | 2D

RN L 50 50| Kg F 1,450 950
R 2O 337 337| Kg FA77 2,700 432
BRECEZV 61 61| Kg 73 2,268 1,560
TRER 20 20l Kg JtF 972

BRI 759 759 Kg 73 2,680 230
RS T 50 501 Kg JtF 1,080 1,050
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4, 7 H R (kg) o o5 FRAXIER |
S s — — i AL — — — —
AH #h5e FRIELS | FEHH =B () ) | e FEHH mfE () EE) | ZfE(M)

70110 BA 1,445 1,329 116| Kg [|EE 3,456 2,476| &= 1,836 1,595
71019 2 ®HA0F 32 321 Kg =N 1,375 1,276
713|L L» HHF 30 301 Kg HE 540
54T AE 9 9] Kg bloi ] 1,728
755|FH&» C 74 741 Kg EE 926 524
T56(FNET 13 13 Kg SR 1,163 1,152
801 [3BAT = 1S 208 208 Kg FE-mA 1,728 594
802|111 10 10 Kg blo ] 1,242
8041 x ¢ 10 10| Kg mE 540
8051 1E 139 139] Kg JbiF 994 648
810|FAKF 70 701 Kg bF 2,638 1,350
8lh|—W T AX 54 541  Kg blo ] 1,512 1,296
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